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Q1. Consider the following statements:

1. Oil palm is a native of South East Asia.

2. India is the world's largest importer of palm oil.

3. Karnataka is the main oil palm growing states in India.

4. India has developed value-added products out of bio-mass from oil palm and has utilized this bio-mass
in various forms in the plantation estate improving the crop productivity.

Which of the statement/s given above is/ are Not correct?

a) 1 and 2 only

b) 2 and 3 only

c) 1,3 and 4 only

d) None of the above

Q2. Coastal Regulation Zones (CRZ) are protected under which law?

a) Wildlife Protection Act, 1972

b) Forest (Conservation) Act, 1980

¢) Environment Protection Act, 1986

d) Air (Prevention and Control of Pollution) Act, 1981

Q3. Consider the following statements about the Textile sector in India:
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1. This sector is the second largest provider of employment in India, after agriculture.
2. India is the largest cotton producer in the world and also has the highest area under cotton cultivation.

Which of the above statements is/are Not correct?

a) 1 only

b) 2 only

c) Both 1 and 2
d) Neither 1 nor 2

Q4. Consider the following statements regarding Periodic Labour Force Survey.

1. It is prepared by the National Statistical Office (NSO).

2. It gives estimates of Key employment and unemployment Indicators like, the Labour Force Participation
Rates (LFPR), Worker Population Ratio (WPR), Unemployment Rate (UR), etc.

3. Annual Report of periodic labour force survey 2020-21 finds that India’s female work participation rate

at 65 per cent in 2020-21.
Which of the statements given above is/are NOT correct?

A.1only

B. 2 and 3 only
C.3only
D.1,2and 3

Q5. What is the main characteristic of fourth-generation warfare, sometimes seen in the news?

a) Conventional military operations

b) Non-linear battlefields

c) Guerrilla tactics

d) Large-scale use of nuclear weapons
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